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from keras.models import

model = Sequential()
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from keras.layers import Dense

model.add(Dense(units=64, activation='relu', input dim=100))
model.add(Dense(units=10, activation='softmax'))
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model.compile(loss="'categorical crossentropy’,
optimizer='sgd',

metrics=['accuracy'])
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Xception (88 MB, 126)
VGG16 (528 MB, 23)
VGG19 (549 MB, 26)
ResNet50 (99 MB, 168)
InceptionV3 (92 MB, 159)
InceptionResNetV2 (215 MB, 572)
MobileNet (17 MB, 88)
DenseNet121 (33 MB, 121)
DenseNet169 (57 MB, 169)
DenseNet201 (80 MB, 201)
NASNet
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bl

mean_squared_error
mean_absolute_error
mean_absolute percentage error
mean_squared_logarithmic_error
squared_hinge

hinge

categorical_hinge

logcosh
categorical_crossentropy
sparse_categorical_crossentropy
binary_crossentropy
kullback_leibler_divergence
poisson

cosine_proximity
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SGD
RMSprop
Adagrad
Adadelta
Adam
Adamax
Nadam
TFOptimizer
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SGD
RMSprop
Adagrad
Adadelta
Adam
Adamax

sgd = optimizers.SGD(1r=0.01, decay=le-6, momentum=0.9, nesterov=True)
model.compile(loss='mean squared error', optimizer=sgd)

VL ) Ic . (&l Wy Y ~

model.compile(loss;’mean_squared_efror', optimizer='sgd"')
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# 2. 2 74507

model = Sequential()

model .add(Dense(output_dim=64, input_dim=28*28,
activation="relu'))

model .add(Dense(output_dim=10, activation='softmax'))
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# 4. 22 sIZA7)7]
model.fit(X_train, Y_train, nb_epoch=5, batch_size=32)

Epoch 1/5
60000/60000 [ 1 - 1s - loss: 0.6704 - acc: 0.8259
Epoch 2/5
60000/60000 [ 1 - 1s - loss: 0.3438 - acc: 0.9043
Epoch 3/5
00000/60000 [ ] - 1s - loss: 0.2959 - acc: 0.9162
Epoch 4/5
60000/60000 [ 1 - 1s - loss: 0.2678 - acc: 0.9239
Epoch 5/5
60000/60000 [ 1 - 1s - loss: 0.2474 - acc: 0.9305

o ggil= 0lEot det DE= stsAZLILL
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# 5. 22 A&7/
loss_and_metrics = model.evaluate(X_test, Y_test, batch_size=32)

print('loss_and_metrics : ' + str(loss_and_metrics))

8704/10000 [ =>....] - ETA: @sloss_and_metrics :
[0.2339999158129096, 0.93320000000000003]
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from keras.utils import np_utils

from keras.datasets import mnist

from keras.models import Sequential

from keras.layers import Dense, Activation

# 1. GJoJEIZ FH[5f7]

(X_train, Y_train), (X_test, Y_test) = mnist.load_data()
X_train = X_train.reshape(60000, 784).astype('float32') / 255.0
X_test = X_test.reshape(10000, 784).astype('float32') / 255.0
Y_train = np_utils.to_categorical(Y_train)

Y_test = np_utils.to_categorical(Y_test)

# 2. 24 743507/

model = Sequential()

model .add(Dense(output_dim=64, input_dim=28*28, activation='relu'))
model .add(Dense(output_dim=10, activation='softmax'))

# 3. 2% %7/
model.compile(loss='categorical_crossentropy', optimizer="'sgd', metrics=["'accuracy'])

# 4. 24 315A/7/7]
model.fit(X_train, Y_train, nb_epoch=5, batch_size=32)

# 5. 29 Argsp7|
loss_and_metrics = model.evaluate(X_test, Y_test, batch_size=32)

print('loss_and_metrics : ' + str(loss_and_metrics))



import autokeras as ak

clf = ak.ImageClassifier()
clf.fit(x _train, y train)
results = clf.predict(x _test)



